
LA CANADA UNIFIED SCHOOL DISTRICT 
RESOLUTION 7-06-07 

 
In Support of Proposition 1D 

 
 

WHEREAS, Proposition 1D is an investment in our schools, in our children and in California’s 
future; and 
 

WHEREAS, Providing a quality education for our students is the most important thing we can do 
to invest in their future; and 
 

WHEREAS, An effective way to grow our economy and create good-paying jobs is to create world-
class public schools—with adequate education facilities—that give our students the skills they need to 
succeed  in the workforce; and 
 

WHEREAS, Proposition 1D provides over $7 billion for Kindergarten through 12th grade 
education and an additional $3 billion for High Education; and 
 

WHEREAS, Proposition 1D will help pay for wiring classrooms and providing 21st Century 
technology, and will build career technical facilities; and 
 

WHEREAS, Proposition 1D will relieve overcrowding, help reduce class sizes and give students 
increased opportunity to learn; and 

 
WHEREAS, more than 60 percent of California’s schools are 25 years of age or older and require 

major repairs; and 
 
WHEREAS, Proposition 1D allocates funds to retrofit and upgrade our schools and colleges to 

ensure they can withstand the impact of natural disasters like earthquakes; and 
 
WHEREAS, Proposition 1D includes funding directed at our students’ safety, including school 

security, playground safety, removal of asbestos and replacing leaky and dangerous roofs; and  
 
WHEREAS, Proposition 1D provides strict accountability to ensure that the funds are spent 

properly and are subjected to independent audits; and 
 

THEREFORE, BE IT RESOLVED, that the Governing Board of the La Cañada Unified School 
District, supports Proposition 1D on the November 7, 2006 General Election ballot. 
 
 I HEREBY CERTIFY that Resolution 7-06-07 was approved and adopted by the Governing Board 
of the La Cañada Unified School District at a regular meeting held on the 3rd day of October, 2006. 
 
Ayes:  5 
Noes:   0 
Abstain: 0 
Absent:  0   


